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QUESTION 1

You work in a data center where VMs and hosts are frequently moved. Your design needs to eliminate inefficient traffic
flows. 

In this scenario, which two solutions will satisfy this requirement? (Choose two.) 

A. VXLAN 

B. EVPN 

C. VMTO 

D. VPLS 

Correct Answer: BC 

 

QUESTION 2

Which EVPN router type prevents BUM traffic from looping back to a multihued host? 

A. Ethernet segment router 

B. IP prefix route 

C. Ether auto discovery route 

D. Inclusive multicast-Ethernet tag route 

Correct Answer: C 

 

QUESTION 3

Referring to the exhibit, which statement is correct? 
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A. Leaf1 has not learned any MAC addresses 

B. Leaf3 is the remote tunnel endpoint. 

C. One tunnel is servicing multiple VLANs 

D. Spanning Tree Protocol is disabled 

Correct Answer: C 

 

QUESTION 4

Referring to the exhibit, you want to advertise the IRB routes between both routing instances. 
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Which two configuration parameters would be applied to accomplish this task? (Choose two.) 

A. Apply policy irb-A under instance Tenant_c and apply policy irb-c under instance Tenant_A as import policies. 

B. Configure auto-export under both routing instances. 

C. Configure vrf-table-label under both routing instances. 

D. Apply policy irb-A under instance Tenant A and apply policy irb-c under instance Tenant_c as export policies. 

Correct Answer: AC 

 

QUESTION 5
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Referring to the VTEP output shown in the exhibit, which two statements are true? (Choose two.) 

A. The. MAC address 52:54:00 5e 88 6a belongs to a remote host. 

B. The MAC address 52:54;00 5e 88 6a belongs to a local host. 

C. The MAC address 52:54:00 2c 4b:a2 belongs to a remote host. 

D. The MAC address 52:54:00 2c 4b:a2 belongs to a local host. 

Correct Answer: AC 
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